
���������
	���
�
�� ��������������� �!��"$#&%(')"$*,+.- /10�2�3�3546�

7 2
498�:;:<0�49=>:<8��<:;?�@ A63�8�=<=CB;0(2��D=6E
FC�G�9H�E$��
�
��
I
J 4K8�LNMO0�8��G:>46�;��@P�D?RQTSU8��D4K3WVX=ZY[?(?�\�I

] *^"G_ `a%�# b�cedf��g�4K�N8h	��D8��$0jilknmpo!q<r)s�Et0
?,uvA68��wux4�A�0
4KA<\N:>?y=>464��5@z�5:f��=f�{A|?R3�?��D8�YG354,}�~j4
��464KL�:>?9A|?R35?���8�3�3�:<0
4C��?�L
4K=z2�=<���
	f?R��3��e:�ux?)A|?R35?��D=6E�=>?1:<0�8�:z8�L��>8�A|4K�(:x�
?�L
4K=!0G8Kg�4CL��5��46�<4K�(:
A|?R3�?��D=6I

] *^"G_ `a%�#��[c1�z�<?�g�41Y�������L�2�A|:<��?R�{:<0G8�:;@P?���8�3�3[����H�I

H6�z�����z���6�6�<���;k�m�H����C���;���6�6������s��

] *^"G_ `a%�#���ceM�?R�G=<��L
46��:<0
4�@a?R3�35?,uC���
	w���D?�YG354KQy��B;0�46�<4���=�8�=<46:�?�@�Q�?�g��54K={ �¡KqD  � q6�6�6��qD £¢�IBC0
46�<41��=Z8�3�=<?�8�=>46:;?�@ A62�=>:>?RQ�46�D=KE�uC�5:<0�4K8�A�0�?R�
41���GL���A68�:<���
	):<0
4¤:�ux?hQ�?�g��54K=Z:<0
46�hu�?R2�3�L
3¥�5\�4{:>?j=>464h:<0���=eu�4646\�4K��L�I¦m§F�=<=<2�Q�4h:<0�8�:�A62�=>:>?RQ�46�)¨¤=>�[4KA6�5©G4K=e8w=<2
Y$=>46:�ª�«C?�@;:<0
4�:¬u�?
Q�?�g��54K=�:<0�8�:{0
4,­^=<0
4yu�?R2�3�L�3���\�4y:>?£=>464�I¯®�?�g��54K=°8��D4�=<0
?,uC��?R��=<8�:<2��DL�8K��46g�4K������	£8���L
=D2���L�8��{46g�4K���¥�
	
Iz®�2G35:<�5�G354¤Q�?,g���4K=;Q�8K��Y[41=<A|�<464K��4KL�8�:;:<0
49=D8�Q�41:<��Q�4�I±s
² ?R2w�
464KL�:>?hL�4KA6��L
41uC0G��AD0�Q�?�g��54K=U=D0
?R2�3�LyY[41:>4K3�46g���=<4KL�?R�N=<8�:<2
�DL�8���E�8��GL�uC0��¥AD0�Q�?�g��54K=
=D0
?R2�3�L�Y[4U:>4K3546g��¥=>4KL�?R�h=<2���LG8K��E�=>?9:<0�8�:�46g�46�<�°A62G=>:>?RQ�46��	�46:<=x:>?�=>464�:<0
4C:�ux?�Q�?,g���4K=z:<0
46�
L�4K=<�5�<4�I³B;0
4U´(2
4K=<:<�5?R�°��=K�µ��=z:<0
46�<4�89=<A�0
4KL�2�354U=>?9:<0�8�:x4K8�AD0�Q�?,g��54���=z=D0
?�uC�{8�:xQ�?R=<:z?R��A|4,}
SU?�u¶A68���u�49AD0�4KA<\��5@µ=<2�AD0�8�=<AD0�4KL�2�354¤4|·
��=>:<=�}
mp¸¤�
4��G8��5g�4¤=>?R3�2
:<�5?R�°ux?R2G3�L°Y[4�:>?�=<0
?�u¹8�3�3�Q�?,g��54K=�?R�hY[?�:<0�L�8K��=6E
=>?):<0�8�:O4K8�AD0�A62�=<:>?RQ�46�
A68��º=>4641?R�
41L�4K=<�5�<4KLyQ�?,g���4¤?R�y4K8�AD0NL�8K��Iz~j41ux?R2G3�Ly�
464KL�»yA�0�8����
4K3¥=Z�5@µ»y�¥=O:<0
41�(2GQ9Y[46�
?�@!Q�?�g��54K=C����:<0���=;=<?R3�2
:<�5?R�h¼y0
4K��A|49��@µ:<0�46�<49��=U8°=>?R3�2�:<�5?R�����yuU0���AD0�4K8�AD0NQ�?�g��54e�¥=C=<0
?,uC�
8�:�Q�?R=>:U?R��A|4�EGu�49u�?R2�3�Ly3���\�41:>?°©G�GLy�5:6I±s�½�:U�¥=;A|?R�¾g�4K�G�54K�¾:U:>?°@a?��DQ)2�3�8�:>41:<0��¥=Z���<?�YG3�4KQT8�=
8�	��D8��G0y���D?�YG354KQyI

] *^"G_ `a%�#¿-�c1B;0��<464CA|?R2
�G3�4K=z8��<4�	�?R���
	e:>?�	�46:<0
46�O?R�{8;��?R2��D�
46��I³B;0
46���<4K8�A�0h8e�D�5g�46�xuC0���A�0�:<0
46�
0G8Kg�4�:>?hA|�D?R=<=6ICB;0�46��A68��wA|�<?R=D=U2�=D���
	°8°Y�?R8�:�:<0�8�:�A68��º?R�G35�y0
?R3�L�:�ux?h�[46?��G354)8�:U8{:<��Q�4�I
À ?£0�2�=>YG8��GL&uU��=<0
4K=):>?�354K8�g�4�0���=�uC��@P4y����:<0
4�A|?RQ��$8��¾��?�@U?�:<0�46�°Q�4K��uC0�4K��0�4���=��
?�:
�G�<4K=>4K�(:6I�M�?R��=>:>��2�A|:;8�	��D8��G0�:>?°=<0
?,uÁ0
?�uÁ:<0
41:>�D8���=<@P46�CA68���Y�41L�?R�
4�I

] *^"G_ `a%�#�Â[c¤~j4��
464KLN:>?y8�=<=<�5	R�N:�ux?y@a�<4K´�2
4K��A6�54K=U:>?�4K8�AD0j�
?�L
4)?�@x8{	��D8��G0�I¤F�L^�>8�A|4K�(:1�
?�L
4K=
=D0
?R2�3�L{0�8Kg�4¤L��Ã�[46�<4K�(:z@a�<4K´�2
4K��A6�54K=6Iµ½��°?�:<0
46�Ou�?��DL�=��5@��
?�L
4UÄ�0G8�=z@a�<4K´�2
4K��A6�54K=CÅ¾H�qD�(Æ¤:<0
4K�
8��(�w�
?�L�4)8�L^�<8�A|4K�(:¤:>?�Ä�A68����
?�:12G=>4�@P�<4K´�2
4K��A6��4K=U@a�<?RQÇ:<0���=f=>46:6I)~È0�8�:¤��=�:<0
4�Q������¥Qe2�Q
��2�QeY[46��?�@C@a�<4K´(2�4K��A6�54K=�m§A|?R35?��D=Ése�<4K´(2G�5�<4KL�:>?�A|?R35?��°8��.?�L�L�A|��A6354£m§=<2�A�0�8w	��D8��G0�Q��5	R0(:
A|?RQ�49@a�<?RQnA|4K3�3�2�3¥8��Z@P�<4K´�2
4K��A|��8�=<=<��	R��Q�4K�(:<=Z@P?��C:>�D8���=<Q���:>:>46�D=Z?R�y:<0
4¤Y[4K35:�u�8��
s>}


